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(1) AX2H : 2HA 272 N9 SAXNKIN2 43 L 29X
(2) Ax=2H AFR YUMo ALY N3N 2435
(3) &xXHE : 20084
@ J12289 Il
(1) JI2Ae =20 2HA ARZ2 UHYAMO SHALEY XNA2H 2435
(2) 20179 % JISAY MR @ 29X20] 86 AAZoIo AYoNg Q5 XA
® JI=2x4d & 22
(1) JI2=H a5
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20179 & =AM H = 20178 &
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1,106,669 32,267 15,000 17,267 1,123,936
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2. A== H =

JAAST 20174

Ol &k Xb== 0 =0l &t

JAFE P ARENGEEMESLEXNAIIS

OIPNF=2ENE-—F} (che: & )

= & A = X = A -
s = = A ME =)o 5 & g = NENH HEA X =N g &

E Al 358,054 339,616 18,438 | & Al 358,054 339,616 18,438
& = =2 H & X & A & H 15,000 15,000 0
2 S =2 0 0 ol A & A & i 0 0 0
Xt e = 0 0 o)l & 2 <& i 0 0 0
I T 0 0 ol =2 =3 oW 0 0 0
o &3 &= 3 =+ o]0l & = 0 0 0
o x = 3 = 325,787 306,669 19,118 | O Xl = 343,054 324,616 18,438
Oll o= = 0 0 oSl 3as 0 0 0
0l At o= 2 32,267 32,947 ABBO Ul === & 0 0 0
| Et = 0 0 vl Et Xl = 0 0 0
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AT - 20
SATE  ARDUAMSHNREIID
@ =& (EHe X))
ST So0 fe= =2 4B U
Solo
200 Ml 2=+ 4,267 4,947 A 680
210 & HAN Q=Y 4,267 4,947 A 680
216 Ol Xt==¢& 4,267 4,947 A 680
216-01 =3 0U =0l X ==& 4,267 4,947 A 680
OUWXlI= Ol Xk 4,267,810& = 4,267
700 EX=ASLUHEHN 353,787 334,669 19,118
710 B82S 325,787 306,669 19,118
714 Ol X123 = 325,787 306,669 19,118
714-01 O Xl 33l == 325,787 306,669 19,118
Ol Xz 3=+ 325,787,770& = 325,787
720 LHE el 28,000 28,000 0
722 HE=XL0 =3 28,000 28,000 0
722-04 OE 30l =g 28,000 28,000 0
Osg2ellzg e = 0ol Xt 28,000,000& = 28,000
= g g JA 358,054 339,616 18,438
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Ol & Xp= 0 200l &t
A2 ¢ 22NN SEXNNAI=

@ A=A CER-E)
AN .22 . H . 09 - DAY - HES X & o AT 5 o HDS2
=S| mE==gn); 358,054 339,616 18,438
MERE - D& 358,054 339,616 18,438
NSZHELS =& 15,000 15,000 0
ARONE LS AN (ARD IS LA T AT 22 15,000 15,000 0
ARAPNYEAMESENF(AARSHEAMESEXNRAIZ2) 15,000 15,000 0
307 eIz2tol ™ 15,000 15,000 0
08 OlXtEHEZ 15,000 15,000 15,000 0
OLRENISN SEXJ O EN 15,000,000& = 15,000
HEEdS(ZHMRS) 343,054 324,616 18,438
BENE(AR2ANYESMSLERNAAINZ) 343,054 324,616 18,438
BEINESB(ARIZNIELHESEIN2) 343,054 324,616 18,438
602 Ol Xl = 343,054 324,616 18,438
01 OIXIZ 343,054 343,054 324,616 18,438
Ou X2 343,054,000& = 343,054
Xl £ g A 358,054 339,616 18,438




w
e
H
g
A
oy
o3
0x

o
ksl
02
il
Otoe

SIAHE 20174
Ol & Xp= 0 200l &t
A2 ¢ 22NN SEXNNAI=

eI Yy @ o
AT & & ol
TSl w e |myz | vx2 | gouz |3FEE | gao Ol Xt JIE ¥ @ |H8%s ENE |azzau | HYUZH W32 | JE | (@-@)
==2 | == =S | (oxEa) e A0l 20l AHHl | AFSIH] | % =3 22 as (2SYE =
20114 7H X 420,776 | 400,000 0 0 0 0 20,776 0 0 0 0 0 0 0 o 420,776
20128 & 205,800 | 200,000 0 0 0 0 5,800 0 0 0 0 0 0 0 0| 205,800
20134 = 221,712 200,000 0 0 0 0 21,712 0 0 0 0 0 0 0 o 221,712
20144 = 229,330 | 200,000 0 0 0 0 29,330 0 0 0 0 0 0 0 0| 229,330
20154 = 34,645 0 0 0 0 0 34,645 0 4,437 4,437 0 0 0 0 0 30,208
20164 = 32,947 0 0 0 0 0 32,947 0 15,000 15,000 0 0 0 0 0 17,947
201749 = 32,267 0 0 0 0 0 32,267 0 15,000 15,000 0 0 0 0 0 17,267
A 1,177,477 | 1,000,000 0 0 0 o 177,477 0 34,437 34,437 0 0 0 0 0| 1,143,040
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Ol &b Xb== 0 = Ol &
JAFRE  ARENGEEHMELEXNE I =
cHol: & @
OlX Ol
22 0 Xl (=) H
201568 =2 & TH A 20160 = UBEHH@ 017H =L AHD S2(0-®@)
Al 1,107,826 1,125,787 1,143,734 17,947
0l Xl = A 307,826 325,787 343,734 17,947
=8 307,826 325,787 343,734 17,947
OlE= | 800,000 800,000 800,000 0
sg2elll3 800,000 800,000 800,000 0




